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(Instructions: =i
% Periodic Table is provided.
# This paper consists of 09 pages.
# Answer all the questions.
% Use of calculators is not allowed,
# Write your Index Number in the space provided in the answer sheet.
| * Follow the instructions given on the back of the answer sheet carefully. ‘
# In each of the questions 1 to 50, pick one of the alternatives from (1), (2), (3), (4), (5) which is correct
or most appropriate and mark your response on the answer sheet with a cross (x) in accordance
L with the instructions given on the back of the answer sheet.
Universal gas constant R = 8.314 J K~! mol™!
Avogadro constant N,= 6022 x 102 mol™!
Planck's constant h = 6626 x 107 Js
Veloclty of light c =3 x 10° ms™!
1. Consider the following statements, I and II,
I, The energy absorbed or rcleased by atoms is quantized.
II. Small particles under appropriate conditions show wave properties,
The two sclentists who proposed the theories as given by statements I and II respectively are,
(1) Louis de Broglic and Albert Einstein
(2} Max Planck and Louls de Broglie
(3) Max Planck and Ernest Rutherford
(4) Niels Bohr and Louis de Broglie
(5) Louis de Broglie and Max Planck
2. The

‘he maximum pumber of electron pairs of an atom that are associated with principal quantum
number n = 3 s,

(1 3 (2) 4 35 “@ 8 (3 9

The number of stable resonance structures that can be drawn for the oxalate jon [Cz()i‘ / (OZC —COZ) -]

o 2 @3 3 4 @ 5 ® 6

What is the IUPAC namo of the following compound? o
HOCH,CH,CH,CCH,NH,

(1) 5-hydroxy-2-oxo-1-pentanamine (25 l-asninms-hydroxy-z-ogopentane
(3) I1-ainino-5-hydroxy-2-pentanone (4) 5-hydroxy-1-amino-2-pentanone
(5) 5-amino-4-oxo-1-pentanol

Identify the pair of elements which has the largest difference in electronegativities.
(13 B and Al (2) Beand Al (3)BandSi (4 BandC (5) Aland C

S

[See page two
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10.

11.

- (5) All the hydrogen atoms of benzene lie in the same plane.

: =\
6. Theelectron pair geometry and shape around the two nitrogen atoms (labelled as N and N?) inthe H,NNO
molecule (skeleton: H—N'—N2—0) respectively are,
Nl N!

(1) tetrahedral pyramidal trigonal planar angular

(2) pyramidal 'tri_g_ona] planar trigonal planar angular

(3) trigonal planar pyramidal trigonal planar trigonal planar

(4) tetrahedral pyramidal angular trigonal planar

(5) _tetrahedral angular trigonal planar trigonal planar

Which of the following statements is incorrect regarding benzene?
(1) The resonance hybrid of benzene is depicted as follows:

(2) All six carbon atoms of benzene are sp? hybridized.

(3) The bond lengths between any two carbon atoms of benzene have the same value.
(4) All the C—C—C and the C—C—H bond angles of benzene have the same value.

TiCl(g) reacts with liquid magnesium metal (Mg(D)) to give Ti(s) metal and MgCl(}) at high
temperature. When 0.95 kg of TiCl(g) is made to react with 97.2 g of Mg()), the reactant that is
completely consumed (this is commonly referred to as limiting reactant) and the amount of Ti(s)
metal formed respectively are, (Molar mass: TiCl,=190g mol™; Mg=24.3 gmol™'; Ti=48 g mol™)

(1) Ti(.'.‘l4 and 96 g (2) Mg and 96 g (3) Mg and 48 g
(4) TiCl, and 192 g (5) Mg and 192 g

The ideal gas equation can be expressed in the form, P = p%}f- where £ is the density of the gas, M

is the molar mass (g mol™) of the gas, P is the pressure (Pa) and T is the temperature (K), If the
units of R are J mol™! K™!, units of # in this equation should be,

(1) kg m?® (2) g m*® 3) g em™
4) g dm™ (5) kg em™

The decreasing order of conductivity of the following aqueous solutions including H,O is,
0.01MKCI, 0.1 MKCI, 0.1MHAC; (HAC = acetic acid; M = mol dm™)

(1) H,0 >01 M HAC > 0.1 M KCl > 001 M KCl
(2) 001 M KCl > 0.1 M HAC > 01 M KCl » H,0
(3) 001 MKCl > 01 MKCl »01M HAC > H,0
(4) 0.1 M KCl > 001 M KCl » 0.1 M HAC > H,0
(5) 0.1 M HAC » H,0 > 001 M KCI > 0.1 M KCl

The correct answer when the chemical species S0, S0,, SO§" ; SOE" and S'Clz are arranged in
the increasing order of the electronegativity of sulphur (S) atom is,

() SCl, < 505" < SO, <8O, <SO*
@) SO, < SO}" <80, < SO <sal
(3) SO < SO} <8Cl, <50, < so,
@) SCl, < $O}" < SO} < SO, < so,
©) sc, <S0} < s0 < S0, < SO,

=

[See page three
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a 1.775 mol dm™ aqueous solution of MgCl, at 25°C? At this temperature, solubility product of
Mg(OH), is 7.1 x 1072 mol® dm.

(1) 40x10® mol dm™ ) 20x%10° mol dm™ (3) 1.775% 107" mol dm™
@ V71 %10 mol dm® (5 1.0x10° mol dm™
13. What is the major product of the following reaction?
COH
excess aq.NaOH 5
HO CH,OH '

(1) CO;Na* , 2 Eo;Na'f 3) EO;Na"
Na*O"é‘cHzo'Na'f Na*0™" "~ ~CH,OH HO” ™ “CH,0"Na*

@ QO;Na* 5) (OH

HO CH,OH Na*O” CH,OH

14. Identify the correct statement from the following.
- (1) The bond angle of NF, is larger than the bond angle of NH,.
(2) Elements in group 17 (or 7A) exhibit oxidation states from —1 to +7.
(3) Monoclinic sulphur is the most stable allotrope of sulphur at room temperature,
(4) The density of graphite is higher than the density of diamond,
(5) Aluminium chloride satisfies the octet rule in the gaseous state.

15. The standard electromotive force of the electrochemical cell Mn(s)'Mh"’(aq)”Br‘(aq)'Brz(g)]Pt(s_)

is 227 V. The standard reduction potential of Br,(g)[Br(aq) is 1.09 V. The standard reduction
potential of Mn?*(aq)| Mn(s) is,

(1) 336V (2) -1.18 V- (3) 059 V 4) 118 Vv (5) 336V

16. The enthalpy change of vaporization and the entropy change of vaporization of a liquid are,
45.00 kJ mol™' and 90.0 J K™ mol™ respectively. The boiling point of the liquid is,

(1) -45.0 °C (2) 62.7 °C (3) 100.0 °C 4) 135.0 °C (§) 2270 °C
17. What is thf incorrect statement about Cﬁﬂsﬁ =NCI” ?
(1) CH,;N=NCI" can be obtained by reacting aniline with HNO, (NaNO, /HCl) at 0 - 5 °C.
) CGHSPE ENEZI* reacts with KI to give iodobenzene.
(3) The CH,N=N ion can act as an electrophile.
(4) When an aqueous solution of CGH,ﬁ =NCI" is heated, it decomposes to give benzene.
(5) C5H5N+ =NCI reacts with phenols in a basic medium to give coloured compounds.

18. H,S(g). reacts with O,(g) to give only water vapour (H,0(g)) and SO,(g), as products. When

4 dm’ of H,S(g) reacts with 10 dm® of O,(g) at a constant pressure and 250 °C, the final volume
of the mixture is,

(1) 6 dm? 2) 8 dm® (3) 10 dm? 4 12 dm? (3) 14 dm®

\_ ‘ I v
[See page four

12. Which of the following answers gives the maximum hydroxide concentration that can exist in\
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19. A mixture of A(g) and D(g) was introduced in to a rigid evacuated container at the temperature 7.
At this temperature, both A(g) and D(g) decompose according to the clementm_-y reactions given below.
2A(g) ~= B(g) + 3C(g); rate constant k

D(g) — B(g) + 2C(p)

The initial pressure of the container P, changed to 2.7 P after the complete dct:omposition of
both reactants. The initial rate of decomposition of A(g) at this temperature Is, (R is the universal

gas constant)
@ 27k ('RPT)

W 17k (ﬁff)
“4) 2.8k ({T_)z %) 7.29% (—1{;-,}2

20. An organic compound (X) decolourizes bromine water (Brz/HzO). X does not give a precipitate with

ammoniacal CuCl. When X is treated with an acidic K,Cr,0, solution, a green coloured solution is
obtained. X could be:

Y H H
(1) CHaCHCH3CEC ==H

3) 0.09k ('R%")z

(2) CH,CCH,C=C—CH,
&
OH

(%) CH,CHCH,CH,CH,CH,

(3) CH,CHCH,CH=CHCH,

CH,
@ HOCHQ(LHCEC-—H

21. A buifer solution of PH 5.0 was prepared by mixing equal volumes of a 0.10 'nit'Jl"dn'f;a monobasic
weak acid solution and a 0,10 mol dm™ solution of the sodium salt of this acid, The PH of the resultant

solution, when 20.00 em® of thig buffer solution was mixed with 90.00 cm® of 0.10 mol dm™ weak
acid solution, is,

(1) 3.0 ) 40 (3) 45 4 55 (5) 6.0

22. Consider the following three aqueous solutions,
P - a weak acid,

Q - an equimolar mixture of the weak acid and its sodium salt,

R - titration mixture at the equivalence point of the titration' of the weak acid and a strong base

When each solution is diluted by the same amount at constant temperature, the PH of P, Q and
R respectively, will

(1) decrease, increase, not change.. (2) increase, not change, decrease,
(3) increase, not change, not change. (4) increase, not change, increase.
(5) increase, Increase, increase,

23. The Incorreet statement with regard to the oxoacids of chlorine HOCI, HCIO. » HCIO, and HCIO, is,
(1) The shapes around chlorine in HClQ,, HCIO, and HCIO, respectively are angular, Pyramidal

(2) The oxidation 'states of chlorine in HOCI, HCIO

.

+3, +5 and +7,

(3) The acid strength of the oxoacids varies as HOCI < H(:l()2 < HCIOS < HC104.
4) Al these oxoacids contain at least one double bond.

(5) All these oxoacids contain at least one OH group,

24. The density of an aqueous acidic solution at 25
10, its H" concentration in ppm would be,

(1) 01 21 (3) 100

b I-ICIO3 and HCIO, mspecFively are +1,

"Cis 1.0 kg dm™. If the pH of this solutiop is

(4) 1000 (5) 10,000

J
[See page five
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25. A'25.0 g sample of polluted air containing ozone (O,) is treated with an acidic solution containing
excess KI. Ozone is converted to 0, and H,0 during this reaction. The iodine liberated is titrated

with 0.002 mol dm™ Na,$,0, solution. Volume of Na,§,0, required was 25.0 cm’. The mass
percent of O, in the air sample is, (O = 16)

(1) 48x107° (2) 64x10° . 3) 9.6x%x10° 4) 1.0x102 (5) 32x%x10?

26. Which of the following reaction steps is not present in the Born-Haber cycle of NaCl(s) formation?
(1) Na*(aq)+CI'(ag)—> NaCl(ag) (2) Na(s)—s Na(g) (3) Cl(g)—2CI(g)
4) Cl(g) + e — CI'(g) (5) Na*(g) + CI'(g) — NaCl(s) :

Activation energy of the elementary reaction A(g) + B(g) — C(g) is Ea. This reaction is
catalysed by the metal M. The energy diagram of the catalysed reaction is given below.
Energy A

27,

; Reaction coordinate
Which of the following is always correct with regard to this reaction?

(1) Ea <E, () Ea=E, +E, + E - AH, (3) Ea < E, Ea < E, and Ea < E,
4) Ea>E +E (5) Ea> AH, + E,

B B id, i | . Amount of the acid dissociated
28. For .a weak acid, it can be glvenrthat FY Amount of the acid undissociated

Which of the following graphs shows the relationship between Log F and pH?

Log F LogF Log F Log F Log F

[
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£
=

=
=]
=
::\
=

]

=
i

(1) (2) )] @ (5)

29. Which of the following statements with regard to polymers is correct?
(1) Nylon is an addition polymer.
(2) Teflon is a condensation polymer.
(3) Bakelite is a linear polymer.
(4) The number of carbon atoms in the repeating unit of natural rubber is 4.
(5) Small covalent molecules are eliminated when monomers combine to form condensation polymers.

30. Two ideal gases that do not react with each other are separated by a valve and kept in a
rigid container. This system is maintained at constant temperature and pressure. Which of the

following . correctly describes the change in Gibbs energy, enthalpy and entropy of the system
respectively when the valve is opened?

(1) decreased, decreased, decreased (2) decreased, decreased, increased
~ (3) decreased, unchanged, increased (4) decreased, increased, increased
(5) increased, increased, increased

\\ ‘ ‘ _ w,
; ‘ [See page six
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® For cach of the questions 31 to 40, one or more responses out of the four responses (a), (b).q' .
(c) and (d) given is/are correct. Select the correct response /responses, In accordance with the
instructions given on your answer sheet, mark

(1) if only (a) and (b) are correct.
(2) if only (b) and (c¢) are correct.
(3) if only (c) and (d) are correct.
(4) if only (d) and (a) are correct.
(5) if any other number or combination of responses is correct.
Summary of above Instructions
(1 (2) (3) 4) (5)
Only (2) and (b)) [Only (b) and (c) Only (c) and (d) Only (d) and (@) |Any other number or
are correct are correct are correct are correct combination of
responses Is correct

31. Which of the following statement/statements is/are correct with regard to simple covalent molecules
containing oxygen and sulphur atoms? -

(@) H,O shows amphoteric properties.

() The bolling point of H,O, is higher than the boiling point of H,0.
(¢) H,0, can act as an oxidizing agent only in an acidic medium.,

(d) Both H,S and SO, have the capacity to act only as reducing agents,

32. Which of the following statement/statements is/are correct with regard to hydrocarbons?

(@) All hydrocarbons give CO, and H,O when completely reacted with excess O,.
(b) All alkynes react with Grignard reagents to give alkynylmagnesium halides.
. (@) The boiling point of a branched alkanc is higher than the boiling point of an unbranched
alkane with the same relative molecular mass.
(d) Nome of the hydrocarbons react with aqueous NaOH.

33. If an endothermic reaction oceurs spontancously .at constant temperature and pressure, then,
(@) enthalpy of the sysiem decreases. (b) entropy of the system increases.

(c) enthalpy of the system increases. (d) entropy of the system does not change.

34. Which of the following statement/statements is/are correct regarding the precipitation of metal ions
by passing H,S(g) in to their aqueous solutions?

(@) When the pressure of H,S(g) is decreased, the sulphide ion concentration is increased.
(b) When the temperature is %ncrensed, the sulphide ion concentration is decreased.
(¢) Addition of Na28(s) to the solution, decreases the dissoclation of dissolved HZS(aq).
(d) Increase in pH of the solution decreases sulphide ion concentration.
35. Which of the following is/are nucleophilic substitution reaction/reactions?
H .

(a) CH;E——H + HCN ———es CH,CHCN
(b)) CH,CH,OH + PCl, CH,CH,CI
(© CHE,EHC! + NaOH ———+ CH,CHOH

5, &,
@ c:HSIHCH3 +al, —2— cuccn,

Hy H,

\ /

[See page seven
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36. Which of the following statement/statements is/are correct regarding the elevation of carbon dioxide
level in the atmosphere?

(@) It contributes to the increase in acidity of sea water.

(b) It reduces the hardness of water bodies.

(c) It strongly absorbs UV radiation coming from the sun.
(d) It does not contribute to acid rain.

37. Which of the following statement/statements is/are correct with regard to 3d-block elements?

(@) Zn has the highest first ionization energy among the 3d-block elements.

() In contrast to the ions of most main group elements (s and p-block), 3d-block metal ions rarely
aftain the noble gas configuration.

(c) Although the electronegativities of 3d-block elements are higher than the electronegativities
of the corresponding s-block elements, their atomic radii are smaller than the atomic radii of
the corresponding s-block elements.

(d) The 3d-block elements that form colourless compounds are Ti and Zn.

38. Volatile liquids A and B having saturated vapour pressures P, and P} (PA -:P;) form an ideal

solution. A mixture of the liquids A and B is in equilibrium with their vapour phase, in a closed

container. When the volume of the container is increased and the equilibrium is re-established at

the same temperature, which of the following statement/statements is/are correct?

(@) While some amount of A and B go to the gas phase, the composition of the liquid phase remains
unchanged.

(b) While some amount of A and B go to the gas phase, the composition of the gas phase remains
' unchanged.

(c) While some amount of A and B go to the gas phase, the composition of the liquid phase
changes.

(d) While some amount of A and B go ‘to the gas phase, the composition of the gas phase
changes.

39. Which of the followmg statementlstatements is/are correct regarding an aqueous solution of a weak
acid?
(a) Conductivity of the solution increases as the concentration of the weak acid decreases.
(b) Conductivity of the solution increases as the temperature increases.
(c) Conductivity of the solution decreases but the fraction dissociated of the weak acid increases
as more water is added to the solution.
(@) When NaCl(s) is dissolved in the weak acid solution, conductivity decreases.

40. Which of the following statement/statements regarding compound A is/are correct?

/CH,COCH,
CH,CHw=C
o

(a) A exhibits geometric isomerism,.

(b) A does not exhibit optical isomerism.

(c) The product obtained when A is reacted with pyridinium chlorochromate (PCC) exhibits
optical isomerism.

(d) The product obtained when A is reacted with pyridinium chlorochromate does not exhibit
geometric isomerism.,

\_ . o
‘ [See page eight
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From the Table given below,
that best fits the two statements and mark appro;

question Nos. 41 to 50, two statements are given in respect of each question,

select the response,

out of the responses (1), (2), (3), (4) and (5),

priately on your answer sheet.

Response First Statement Second Statement
1 True True, and correctly oxplains the first statement
2 True True, but does not explain the first statement correctly
3 True False ‘ b
4 False True
5 False False
First Statement Second statement

41,

Among the halogens, I, is a solid whereas
Br, is a liquid,

London forces become stronger with increase
in molecular surface area,

42 L ]

At a given pressure, the spontaneity of the
reaction between N, and H, to give NH, drops
with increasing temperature,

Entropy change of the reaction between N,
and H, to give NH, is negative,

43.

Essential olls are generally extracted from plant
materials by steam distillation,

Essential oils have a high solubility in water.

44,

A spontaneous reaction always has a negative

Gibbs energy change no matter what the
conditions are.

Gibbs energy change can be used to predict
the direction of a reaction only under constant
temperature and constant pressure conditions,

48,

Solubility of 1-butanol in water is less than

‘| the solubility of methanol in water.

The solubility of alcohols in water decreases as
the size of the non-polar alkyl group increases
relative to the polar OH group,

46. | The reaction, A secondary carbocation is formed as a reaction
HBr intermediate in the following reaction.
CH3w=-CH==CH2—--—-n CH,~CH ~CH, HBr
r CI-I:,—('.‘I-I=-CI'I2 CI-I:;----CH—(’:H3
is a nucleophilic addition reaction, ‘Br
47. | Coke is used in several industrial processes. | Coke is only used industrially as a fuel,

The carbonyl carbon atom of a ketone and the
other atoms bonded to it lie in the same plane.

The carbonyl carbon atom of a ketone is sp?
hybridized,

49,

Any two ideal gases have the same average
kinetic energles at the same temperature,

At a given temperature, the average speed of
gas molecules adjust according to their masses,

50,

Although CFC contribute to ozone layer
depletion, the contribution from HFC s

negligible,

HFC undergoes complete decomposition before
reaching the upper atmosphere,

#* %

¥

- Remove Waf
‘1:‘

y.

[See page nine
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The Periodic Table
1 2
1 | H ). He |
3] 4 S |(6 (7 (8 |9 |10
2 | Li| Be BIC|/N|O|F [Ne
11 | 12 13 114 [15 |16 |17 | 18
3 [Na M Al |81 [P |S |Cl|Ar
1912021 22|23 (24 252627 28 129 130 (31 [32 (33 (34 |35 | 36
4 | K |Ca|Sc|Ti|V|Cr|Mn|Fe!co Ni |Cu|Zn |Ga |Ge |As |Se |Br |Kr
37 |38 (39 (40|41 4 43 | 44 | 45 | 46 | 47 | 48 | 49 30 |51 |52 |53 |54
> |Rb|Sr| Y |Zr [Nb |/Mo| Te | Ru Rh |Pd |Ag [Cd [In |Sn |Sb |Te I | Xe
55|56 |La-| 72 | 73 | 74 | 75 76 |77 |78 |79 |80 [ 81 | &2 83 |84 {85 |86
GCBaLquTaW‘ReOsIrPtAuHTleBiPuAtRn
87 | 88 | Ac-| 104|105 | 106 | 107 | 108 | 100 110 | 111 (112 (113 114 (115 [116 |117 |118
7 | Fr [Ra|Lr | Rf |Db| Sg | Bh | Hs Mt | Dsg Cn |Nh | Fl |Mc |Ly T | Og |
57 58|59 |60 [61]62 63 | 64 | 65 | 66 | 67 | 68 69 |70 |71
La [ Ce | Pr (Nd |Pm |Sm | Eu Gd |Th Dy |Ho |Er |Tm |Yb Lu
89 (90 |91 192(93(94 95|96 |07 98 |99 1100 |101 [102 [103
Ac |Th | Pa | U |Np | Pu |Am |Cm | BK Cf |Es {Fm |Md |No | Ly
- »,
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Use additional reading time to go through the question paper,

tt—hat you give priority in answering,.

A Periodic Table is provided on page 16.

select the questions and decide on the questions
Use of calculators is not allowed.
Universal gas constant, R = 8314 J K1 mol!

[Index ND-: “tRfuNenttaltanman LEERE LT Y Y R ey ]
Avogadro constant, N, = 6022 x 105 mol-1

In answering this paper, you may represent alkyl groups in u condensed manner.
H H

Example: H——%—-—-—(,I:-_ group may be shown as CH:,CHZ--

H H
O PART A - Structured Essay (pages 2 - 8§)
Answer all the questions on the question paper itself,
Write your answer in the Space provided for each question. Please note that
Jor the answer and that extensive answers are not expected,
Q PART B and PART C - Essay (pages 9 - 15)

Answer four questions selecting two questions from each part. Use the
At the end of the time allotted Jor this paper, tie the answers to the
that Part A is on top and hand them over to the Supervisor.

You are permitted to remove only Parts B and C of the Question paper from the Examination Hall,

the space provided is Sufficient

papers supplied for this purpose.
three Parts A, B and C together so

For Examiner’s Use Only

Part | Question No, Marks Total
. In Numbers

A 2

3 Il'l Lﬂ‘.tel'ﬁ

4

5 Code Numbers
" g Marking Examiner 1

; Marking Examiner 2
Cc . 9 Checked by

10 Supervised by :

Total

[see page two
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PART A — STRUCTURED ESSAY
Answer all four questions on this paper itself. (Each question carries 100 marks.)

1. (a) The following quesiions are related o the elements of the second row in the Periodic Table,

Write the symbol of the clement in the space provided in answering parts (i) to (vi).

(i) Identify the element that has the highest electronegativity (disregard
the noble gas). '

(it) Identify the element that has an allotrope which conducts electricity.

(iii) Identify the element that forms the monoatomic ion largest in size
(this should be a stable fon), e

(iv) Identify the clement that has no p electrons but has a stabie
8 conﬁgumﬁon_ ..................

(v) Identify the element that has the highest first ionization energy. ooveviserniniene

(vi) Identify the clement that forms mostly electron deficient trigonal
planar covalent compounds,. @~ seensseseann

(b) (i) Draw the most acceptable Lewis dot-dash structure for the molecule SO,F,.
Its skeleton is given below, '

O-E-f- O—F

(i) The most stable Lewis dot-dash structure for the molecule H;N,O is shown below,

Draw two more Lewls dot-dash structures (resonance structures) for this molecule.
Write ‘unstable' under the more unstable structure drawn by you.

H-—Qmﬁaﬁ-—fitwﬂ
H

llllllllllllllllll

(iif) Based on the Lewis dot-dash structure given below, state the following regarding the
C, N and O atoms given in the table,
I. VSEPR pairs around the atom II, electron pair geometry around the atom
I1I, shape around the atom IV. hybridization of the atom

) The atoms are numbered as follows.
. = 05
=§§-—§-—1§=C=ﬂbg-—§}:ll F—Olmmw@_k4—01
o N2 i - C N¢
. 1.| VSEPR pairs
IL | electron pair geometry
Il | shape
IV.| hybridization

[see page thm;
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(iv) Identify the atomic/hybrid orbitals involved in the formation of the following o bonds in the
Lewis dot-dash structure given in part (iii) above. (Numbering of atoms is as in part (iii).)

I. F—0! | I S S vt S 1 e ot
| S O L o) O 1 L
I, N=—C Nluerrirrersriinns . <. S ——————— .
IV. C—nN¢ o J— S T Bua | PO
V. N4—Q3 |3 SO Wi SO SR [0 - I evB R G
VML WO = M ucsumiioisinees U, cnvsssimiassisasssany

(v) Identify the atomic orbitals involved in the fdrmation_ of the following 7 bonds in the Lewis
dot-dash structure given in part (iii) above. (Numbering of atoms is as in part (iii).)
In Nz“"'cs Nz -------- Neesusannes ftennananne Cs ------- tsersana T TR

II. C3_,,._N4 c3 ------- 10a0sssnnn fesvuanan XXT] N4-.-n --------- ttuGRansesebRnEND

(vi) 1. How are the two double bonds oriented in the Lewis dot-dash

structure given in
part (iii)?

faflondsarobosdasutnas tegdtnan Bt 0saanes Gsasevann SlfentoatounPadanioatBonsoantng LA R N R R Y ] e

II. Give an example of a molecule/ion that has a similar orientation of double bonds.

asmvnndne FlavERaNdUNEENRRODAREREAY

Note: Your example should not contain more than 3 atoms.

The elements in your example should be restricted to the first and second periods
of the Periodic Table. (52 marks)

(¢) (i) An atomic orbital is described_by three quantum numbers », / and my.
Write the appropriate quantum numbers and the name of the atomic orbital in the boxes

given below.
n l m, atomic orbital
I. |, < +1 3p
II. 3 2 -2
m | T

(i) Arrange the following in the increasing order of the property indicated in parenthesis.
(Reasons are not required.) :

I. LiF, Lil, KF (melting point)

lllllllll (RN < N YN NNY]] < t0sdsunonena

I. NOj, NOF, NE; (stability)

(AR N RN NRR] < SfgpRond < AR NN RN
| I
m. NOCI, NOCl,, NO,F (N—O bond distance) |
Gcascsoncsnn < fadassnannaana < ssemetanesae (uma’k')

[see page four
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2.(a) X is an s-block eiement in the Periodic Table. The first, second and third ionization energles |writo
of X, in kJ mol™! are 738, 1451 and 7733 respectively. X reacts slowly with hot water, lnlthls
liberating H,(g) and forming its hydroxide. The hydroxide is basic. X also liberates H,(g) |°*"™™

on reaction with dilute acids. X burns in air with a bright white light, The cation of X
contributes to hardness of water,

(1) Identify X, X:
(ii) Write the ground state electronic configuration of X.

ssagszaans GodseayfsussoNReGRRPUERER]

(iii) Write the chemical formulae of the two compounds formed when X burns in air
m— .............. S and SRR R

(iv) Consider the given compounds of the elements in the group in the Pericdic Table to

which X belongs. In the given boxes, write whether the indicated property increases
or decreases down the group,

I, Solubility of sulphates in water

II. Solubility of hydroxides in water

IIl, Thermal stability of metal carbonates

Give reasons for your answer in III,

LA R R AR R AR RN NN FOUSUNEBINUGODBRO LA SsvasgsnssssspuuuvnERD D PYBEIVBORIRIB IR O T TeBERIBdRNRPINOENIR RO

¢PIEENBBINABNRIBOTAUNTNGSNUseaDeRRNRAGRBRPREE vevasevanvenEuNnE VEPEI I SE PO EYROTROBER PR

(v) Identify the element in the s-block of the Periodic Table, which reacts in a similar manner
o X with Hy(g), O,(g) and N,(g), but does mot belong to the same group as X,

(vi) Identify another metal fon that contributes to hardness of water.

SEPEITIPNERILUIERRTRANY BB EUsEVRYRERUBUB S UesemavEREROER Y WrssnveRag TN T BIBGseRdRERRPER IR SvpstssveNBVRRO MR RBAS 3

(vii) Identify the compound most commonly used to remove hardness of water.

CREEAILOVIRN POV SPNAGUTIOUNEBARY sevsumuny ee

(viii) X is a component of a well-known reagent used in organic chemistry, Give the name
of this reagent,

IVl GveosENNILIROPTUTROB AR S Wsesaspcwe LERER SRR NTY PadoscsssevsvEerERIRS Gessavupen UrENgOseseNE BT RNERON BB ssewne

[see page fﬁreJ
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(b) Test tubes labelled A to E contain aqueous solutions of Na,$,0,, Na,CO;, KNO,, KBr | write
and Na,S (not in order). The characteristics of the solutions obtained and gases evolved in this
on addition of dil. HCl (warming if required) to each of the tes -tubes A to E are given |column.
in the table below.
Test-tube | Appearance of solution Gas
A colourless colourless and odourless
B - colourless reddish-brown with a  pungent odour
C colourless colourless with a rotten egg odour
D turbid colourless with a _pungent odour
E colourless not evolved
(i) Identify the solutions in each of the test-tubes A to E.
7. U - AR e K ! s vl S
B L] iadteroestannea fTelanemag L] D * drsdEBpRseen fendsan [EN D]
(ii) Write balanced chemical equations for the reactions that take place in test-tubes A, B,
C and D, ‘
In A : feenanp fsnsane oAbt anPORAN OO R RED RS S Ssennnnng LERER NN} LA R R N Y Y YRR L] fondBeTdon e B anRn, a0
In B : Il.lllIInlllllll-'llill IIIII ttsasssavnnanns fancanan SevennePRNanRRanaDY ArtaasPennnn, dfaoeavaRpaat
In€: i sesnine PPRRE s R o T D) (T T ;i
In D : IIIII Senagenan R Y T R YT S T T ffranna BEdne LR N ] S0t eutansgngans IEER NN RN Y
(iii) Write a chemical test to identify each of the gases evolved in A, C and D,
Note: Observations are also required,
In A: .. = LTTTTr SN g, A T T A - —
In C : asdsnarncanan Gensasnana LA R RN Y] ||lllll|tlllllll|llllllllllulllllllllﬁlﬂl lllllll IEN TN NNY
Ill D H I P— tedneBNesRNana LA N N R T A N YR SR I ] teserann s,
BT 0 O 100
(80 marks)
3. The set up shown in the figure was used to calculate the heat
change associated with the dissolution of MX(s) in water.
100.00 em? of distilled water was added to the cup. The initial
temperature of distilled water was measured to be 25.0°C.
Then 0.10 mol of MX(s) was added to the water and stirred
continuously. It was observed that the temperature of the solution
decreased gradually. The lowest temperature measured was 17.0°C,
The amount of water used was sufficient to completely dissolve
MX(s). Density and specific heat capacity of water are 1.00 gem™
and 4.20J g1 °C™! respectively. Assume that the density and the
specific heat capacity of water are not changed due to the dissolution of MX(s).
(i) Calculate the amount of heat that should be supplied to bring the system (solution) back
to 25.0 °C.
L lll!IHIlllllllllllllllllllllalul lllllllllll Selensarneenn Gafstdacnenany Gefsnntunsna 4festhanvandcan EfRgcennacge IERNY] J

[see page six
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(it} Is the dissolution of MX(s) in water an endothermic or exothermic process? Explain your answer,

llllllllllllll R S N R R LR R nIIIImmmmTTmTmT

(iif) Calculate the enthalpy change (in kJ mol~!) associated with reaction
MX(s) + H,O() = M*(aq) + X-(aq).

(iv) It this experiment was conducted using 200.00 cm® of water, would you expect the temperature
change to be larger than the above value? Explain your answer.

I I edgevabvevvan L R Y Y Y aswsn

(V) Show the variation of temperature of the system (solution) by drawing the temperature — time curve.

Note: Eventually the system reaches the room temperature (25.0°C).
Temperature A

> Time
(vi) In this experiment, explain why a plastic cup is used instead of a metal cup.

duseroaa LA AR A Y TR T 4vs0¢pedrecaunNNROtINR R DR DY ssevrrecaNN s SasesEsEwRE D VsIesesEReTNARENS dsvtesennmnn
SUREIeNENOGUBRO R Y snvsvea gYrEEEIEEeNEI DY VeGddosdvnunsevRentNn YssspBecpue PP REURND foessEcevana ddvaerunsvaUNanE (X TRY
Eadveyovpocusnaas PEBINEdOENRVUEPIREFONRBEARE fa3desesravunes “sassnussmnay sesaseseEBRERE AN TR R PeBESAUGRETRIRUBER S

(vil) Gibbs energy change (AG) for the dissolution of MX(s) in water at the temperatre of
23.0 °C and pressurs of 1.0 atm was calculated to be -26.0 kJ mol-!. Calculate the entropy

change (AS) of dissolution of MX(s) in water at 250 °C using ' the enthaipy change
calculated above.

nnnnnnnnnn ll‘lll'llllllltlllllblllIO-JIIIlDil|llilllllllllllllll.llllll L R RN R R R LR T
deduvasezuny dcgivnausyRtGabinNTe ® SusesearREIRAINSE Sesegussvene [EER Y (RN} vevgIRsmN e veseuse
iiiii M R R R R L RSN I (ALY} L N R R P sepe
SRvpsgRecoNNn LR TN Gsasgewovay SPPRPUIRYROGEOOREOV OV OVRROBROSRBRODY SsvooNvernuDRRERRRIRRORTRE R Secreaevesernva (NN
BedseraRne “iscaeuvsaasn VasEevnaaReIny (RN TY §Y PEPsceNIvUBNINBEsRgREPUUOERE sssnvacnnny sEREssRRRREN R ShsesesEENANBREs R

(viii) Would you expect the solubility of MX(s) to increase or decrease with increasing temperature?
Give reasons for your answer.

----------------------------------------------------------------------------------------------------------------------
..-n-u..---.u-uo----..n--nu.---n"--n.---.---u-.--.n-.-u..--.n"-----.-u.u"u-.- ------------------------

----------------------------------------------------------------------------------------------------------

Do not’ .
write

in this
column.,
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4. (a) Compounds A and B both have the same molecular formula CH,,0. Both A and B give
$ orange/red precipitates with 2 A-dinitrophenylhydrazine. When A and B are reacted separately
with NaBH, in methanol, compound A gives C and compound B gives D. When C i
heated with ALQ;, two alkenes E (CH,,) and F (C;H,,) are formed. When E and F are

reacted separately with conc. H,S0, and the products obtained are hydrolysed, compound
E gives G, while compound F gives H. G gives a turbidity immediately with the Lucas
reagent. H also gives a turbidity with the Lucas reagent but not immediately.

(i) Draw the structures of G and H.

G H
(ii) Draw the structures of A, C,E and F.

E F

When heated with Al,0,, D gives alkene I (CyH,;). When I is reacted with conc. H,S0,
and the product obtained hydrolysed, G is obtained.

(iii) Draw the structures of B, D and I.

B D i
(iv) Describe a test/reaction to distinguish between A and B.

(50 marks)

Do net
write

in this
column.

[see page eight
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(b) (i) Give the structures of J, K, L and M in the following reaction sequences. wilte
in this
CH,COCI CH,C==CMgBr H'/H,0 H,/Pd column.
QO amh, AT, ~ 7 sk " K 5a50,/Quinoline
(Reaction I) (Reaction IT)
J K L
CH,— ?= cH, conc. H,80,
CH,
(Reaction IIT)
M
(i) Selecting from the list given below, write the type of reaction taking place in reactions|
I, T and IO,

Nucleophilic Addition,  Nucleophilic Substitution,
Electrophilic Addition,  Electrophilic Substitution,  Elimination

Reaction It 1iviviiniineinrennnniines . . T
Reaction Il: ............ e M M .| q
Reaction TN .....vevvvivneereeviienesosivins

(iti) Using your knowledge of the mechanism of the reaction between alkenes and HBr, give
the mechanism of reaction 11T,

(50 marks)

* % | [see page nine
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¥ Universal gas constant R = 8314 J K~1 mol"]
% Avogadro constant N, = 6.022 x 102 mor-t

5 . \ . )
( 20 88e¢oo /g Mgl L1b/New Syllabus)
—— 0 _-OdLLIVeW Syuabus)

PART B — ESSAY
Answer two questions only, (Each question carries 150 marks.)

S. (a) A titration between the mono acidic weak base B (0.15 mol dm) and HCI (0.10 mol dm) was
carried out using a suitable indicator as described below,

The HCI solution (25.00 cm?) was kept in the titration flask and the weak base B was added using
a burette. The dissociation constant, X, of the weak base at 25 °C is 1.00 x 10~ mol dm™3, All
the experiments were conducted at 25 °C,

(i) Calculate the pH of the acid solution in the titration flask, before the addition of the base, B.

(ii) Calculate the pH of the solution in the titration flask, after the addition of 10.00 cm? of the
solution of B. Can the solution in the titration flask act as a buffer solution? Explain your answer.

(iii) Calculate the volume of the weak base solution required to reach the equivalence point.

(iv) Another 10.00 em® volume of the weak base was-added to the titration flask after reaching
the equivalence point. Calculate the pH of the solution in the titration flask.

(v) Can the solution obtained in (iv) above act as a buffer solu
(vi) Sketch -the variation in PH of the mixture in the titration
weak base solution added (titration curve). Label the axes, indicate pH on the y-axis

and the volume of weak base solution added on the x-axis. Mark the equivalence point
approximately. [Calculation of pH at equivalence point is not expected.] (75 marks)

(b) The following two experiments were carried out at a constant temperature using the volatile liquids
C and D which form an ideal solution.

Experiment I: The liquids C and D were introduced in to an evacuated rigid container and

allowed to reach equilibrium. When the system was at equilibrium, it was
observed that the mole fractions of C and D in the liquid phase (L were
0.3 and 0.7 respectively. Total pressure in the container was 2.70 x 10* Pa.

Experiment II: This experiment was conducted using different amounts of C and D. When
the equilibrium was established, it was observed that the mole fractions of C
and D in the liquid phase (LII) were 0.6 and 04 respectively. Total pressure
of the container was 240 x 10* Pa.

(i) Give the relationship between the partial pressure of C in the vapour phase (P), its saturated

vapour pressure (Pé) and its mole fraction in the liquid phase (X) in the form of an equation.

This equation states a commonly used law in physical chemistry. Write the name of the law.
(ii) Ca}culate the saturated vapour pressures of C and D,
(iii) Calculate the mole fractions of C and D in the vapour phase (V) of experiment I.
(iv) Calculate the mole fractions of C and D in the vapour phase (V,) of experiment II.

(v) Show the compositions of liquid and vapour phases (L;, L, V, and V) and relevant pressures
in the above two experiments on a pressure-composition. phase diagram drawn at constant

tion? Explain your answer.
flask with the volume of the

temperature, (7S _marks))

[see page ten
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6. (a) An organic solvent (org-1) and water(aq) are immiscible and form a biphasic system. Partition
(XL,
coefficient for the distribution of X between org-1 and water at temperature T is, K}, = —-hﬁ—'

X1,
An amount of 050 mol of X was added to a system containing 100.00 cm® of org-1 and
100.00 cm® of water. The system was allowed to reach equilibrium at temperature T.
(i) Calculate the concentration of X in org-1.
(i) Calculate the concentration of X in water.

=40

(20 marks)

(b) The compound Y is soluble only in the aqueous phase. In the aqueous phase, X and Y react
to form Z. The presence of Y and Z does not affect the distribution of X between org-1 and
water.

A series of biphasic systems containing org-1 and water were prepared. Then different amounts
of X were distributed in the biphasic systems and the systems were allowed to reach equilibrium.
The initial rate of the reaction between X and Y in the aqueous phasc was measured after adding

Y into the aqueous phase of these biphasic systems. Results of these experiments conducted at
temperature T are given in the table,

. § Remove Watermark Now
) -

Experiment | Volume of YVolume of | Total amount | Total amounl; 'Inltlal rate of
Number water (em®) | org-1 (cm®) of X added of Yadded | the reaction
(mol) (mol) (mol dm™ s)
1 100.00 100.00 0.05 0.02 2.00 x 1078
2 100.00 100.00 0.10 0.04 1.60 x 107
3 50.00 50.00 0.25 0.02 400 x 10

Orders of the reaction with respect to X and Y are m and n respectively, The rate constant of
the reaction at temperature T is X, v

(1) Given that the concentrations of X and Y in the aqueous phase are [X]m1 and [Y],, respectively,
write the rate expression for the reaction in terms of [X]lq. [Y]-q' m, n and k.
(il) Caleulate the initlal concentration of X in the aqueous phase in each experiment.
) (iif) Calculate the initial concentration of Y in the aqueous phase in each experiment.
- (iv) Caleulate the orders m and n of the reaction with respect to X and Y respectively.
(v) Calculate the rate constant of the reaction.

(vi) An experiment is designed to study the effect of temperature on the reaction rate using
the partition coefficlent given above, ‘

Is this a suitable experiment to study the effect of temperature on the rate of the reaction?
Explain your answer,

(103 marks)

(¢) The organic solvent org-2 and water are also immiscible and form-a biphasic-system. X (0.20 mol)
was added to a system containing 100.00 cm® of org-2 and 100.00 cm® of water and allowed to
reach equilibrium at the temperature T. Then Y (0.01 mol) was added to the aqueous phase and
the initial rate of the reaction was measured. Y does not dissolve in org-2. The initlal rate of the
reaction between X and Y in the aqueous phase was found to be 6.40x 107 mol dm™ s-!,

_ X ‘

Caleulate the partition coefficient -%m]'l"li for the distribution of X between org-2 and water.
v ag

[Xlor.2 18 the concentration of X in the org-2 phase.

(25 marks)

[see page e!éveri'
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| 7. (@) The setup shown in the figure was used to find - Constant current power supply
the relative atomic mass of the metal, M. |

The electrolysis was carried out for 10 minutes ~
using a constant current. The mass of the cathode 1)2

in celi A was increased by 31.75 mg whereas 1> St M
the mass of the cathode in cell B increased by cf;; A > | = cell B
147.60 mg during this time period. (Assume that

the electrolysis of water does not take place in )

cells A and B.) : 8q. CuSO,  aq. M,(SO,),

(i) Identify the anode and cathode in each of the cells A and B (in terms of the numbers
@! ®n ®; and @)-

(i) Write the half reaction taking place at each electrode in each cell.
(iif) Calculate the constant cutrent used in electrolysis.
(iv) Calculate the relative atomic mass of metal, M,

(75 marks)
) @) A, B and C are coordination compounds. They have an octahedral geometry. In each

compound, two types of ligands are coordinated to the metal ion. The molecular formulae
of the compounds are (not in order): NiCl,H,,N,, Nil,H,,N,0, and NiCL,H,N.Q,.

Given below are the observations when aqueous solutions of the compounds are treated
with Pb(CH,COO),(aq). '

Compound Pb(CH,C00),(aq)
A A white precipitate that is soluble in hot water
B No precipitate
C A yellow precipitate thatis soluble in hot water

I. Give the structures of A, B and C.

II. Write the chemical formulae of the precipitates formed on treatment of the compounds
with Pb(CH,C00),(aq).
(Note: Indicate compound and reagent)

III. State a chemical test, together with the observation, to identify each of the anion/s if
present, that is/are not coordinated to the metal jon in the compounds given above.
(Note: The tests given by you should not be a test stated here.)

(ii) A transition metal M forms a coloured complex ion P in aqueous medium. It has the
general formula [M(H,0), ™. It undergoes the reactions given below.

aq.NH, P\ conc.HCl
F 4 \R

(green coloured precl%itate) (yellow coloured solution)
excess N H3

S
(deep blue coloured solution)

I. Identify the metal M. Give the oxidation state of M in complex ion P,
II. Give the electronic configuration of M in the complex ion P.
III. Give the values of n and m.

IV. Give the geometry of P.
V. Give the structures of Q, R and §.
V1. Give the JTUPAC names of the complex ions, P, R and S,

(75 marks)

[see page twelve
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PART C — ESSAY
Answer two questions only. (Each question carries 150 marks._)

Lia'  Remove Watermark Now

8. (a) Using CsH;CO,CH, as the only organic starting material and as reagents only those given in the
list, show how you would synthesize the following compound in not more than seven (7) steps.

CeH C=CHCH, List of reagents
IHzcsHs PCl,, Mg/dry ether, H'/H,0, LIAlH,, conc.H,SO,
) (60 marks)
(b) Show how you would carry out each of the following conversions in not more than three (3) steps.
NH, Br CH,CH,
o & — »0—&
CH,
1 (60 marks)
(¢) The following reaction gives two products,
C‘zﬂso' ,
(i) Write the structures of the two products.
(if) Write the mechanisms for the formation of these two products.
(30 marks)
9. (a) Solution X contains four metal cations. The following tests were carried out to identify these cations,
Test Observation

O | Dilute HCl was added to a small portion of X. No precipitate.
@ |H,S was bubbled through the solution from M aboye. A black precipitate (P,)

@ [P, was separated by filtration. The filtrate was- bolled to A green precipitate ®,)
remove the H,S, cooled, and NH,Cl/ NH,OH was added.

@ P, was separated by filtration and H,S was bubbled through | A white precipitate (P,)
the filtrate,

® |P, was scparated by flltration, The filtrate was boiled to | A white precipitate (P,)
remove the H,S, cooled, and (NH),CO, was added,

The following tests were carried out on precipitates P, P,, P, and P,

Precipitate Test Observation
@ P, was dissolved in hot dil. HNO, and conc. NH,OH | A deep blue coloured solution
"1 was added in excess, (solution 1)
* Excess dil, NaOH was added to P, followed by | A yellow coloured solution
P H,0,. (solution 2)
2 * Dilute H,SO, was added to solution 2. An orange coloured solution
. | (solution 3). .
* P, was dissolved in dil.HCl and dil.NaOH was | A white precipitate (P,)
added gradually,
Py * Addition of dil, NaOH was continued, P, dissolved to give a
: colourless solution
_ (solution 4)
P P, was dissolved in conc.HCI and subjected to the | A brick-red flame
4 flame test.
\ : e T TT———

[see page thirteen
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(i) Identify the fogr metal cations in solutiop X (Réasons are not required.)

(ii) Identify the precipitates P, P, P;, P, and P and th
the colours of solutions 1, 2, 3 and 4, ;

(Note: Write chemical fonnulae only.)

(b) The water sample Y contains the anions S0y, S():" and NOj , The follow
carried out for the Quantitative analysis of the anions present in the water sample,

(75 marks)

ing procedures were

105 °C until

a constant mass was obtained, The mass of the Precipitate was 0,174 8: The filtrate obtained wag

To 25.00 cm? of sample Y, an excess of dilute H,S0, and acidified 59 KIO, solutions were added.

The liberated I, was immediately titrated with 0.020 mol dm=2

NazSZO;, solution using starch gs

the indicator. The volume of Na,S,0, used was 20,00 cm3. (Assume that in thjs procedure, so-

ions are oxidized to sulphate ions (SO§") without any loss to the atmosphere,)
Procedure 3 ‘

quantitatively to react with g 20.00 cm® volume of 0.1] mol dm> HCl solution. Cg
the reaction was tested with litmus, The HCl remaining after reactj

m

transferred
pletion of

ng with the gas evolved was

titrated with 0,10 mol dm= NaOH solution using methyl orange as the indicator. The volume of

NaOH required was 10.00 cm?,

(i) Determine the concentrations (mol dm) of S0}, SO and NO; in water
(Ba = 137, § = 3%; 0 = 16)

sample Y,

(iii) Give colour changes that would be observed in the titrations in Procedures 2 and 3.

(Note: Assume that other ions that may interfere with the analysis are not

present in

)

[see page fourteen
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(b) () Consider the industries glven below.

[=>

—
Y T(g) + H,0(8) % Q + O,(p)
Mg(s) l-liquid/molten

The flow chart given above indicates the production of metal magnesium (Mg) using the Dow
Process.

Answer the following questions based on the flow chart,
(1) Identify the starting material A. s
(if) Identify the processes employed at B, C, D, E, F and G from the list below.
cvaporation, dissolution, thermal decomposition, electrolysis, recycling of a reagent,
precipitation ‘
(i) Identify the chemical compound used in B.
(iv) Identify the chemical species P, Q, R and T.

(v) Give balanced chemical equations/half reactions for the processes taking place in B, C, D,
and F,

(Note: When writing half reactions, identify the anode and cathode where applicable.)
(vi) State the importance of the reaction occurring in G. (50 marks)

Coal power plants

Refrigeration and air conditioning
Transport

Agriculture

Animal farming

I. All five industries given above contribute to global warming. Identify the gaseous chemical
species associated with each of these industries that contribute to global warming.

II, State three adverse climate changes that could occur due to global warming,.

(ii) Identify the main industry /industries given in (i) above that contribute to
. 1. photochemical smog,

II.I acid rain,
I1I. eutrophication.

J.
[see page fifteen
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(iif) Due to the reduction in rainfall in Sri Lanka, inducing artificial rain has been tested near
catchment areas of reservoirs that are used for hydro-power generation. In this process, fine

particles of hygroscopic salts (NaCl, CaCl,, NaBr) are sprayed to induce cloud formation
by condensation of water vapour. '

From the list given below, select the water dﬁality parameters that are directly
1. affected
II. unaffected

due to salts entering water around catchment areas, Give reasons for your choice briefly,
List of water quality parameters:

PH, conductivity, turbidity, dissolved oxygen
. (50 marks)
(c) The following questions are based on biodiesel production,
(i) State the raw materials used in the manufacture of biodiesel.
(ii) Name the main chemical compound present in each raw material where applicable.

(iii) State the name of the chemical compound used as the catalyst in the manufacture of
biodiesel in the school laboratory.

(iv) Give a balanced chemical equation to show the synthesis of biodiesel using the chemical
compounds stated in part (ii) above. :

(v') Identify a side reaction that would take ﬁlace. along with its products, if the catalyst is
used in excess. . '

(50 marks)

# % H

>

[see page sixteen
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